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1. What is the probable relat10nsh1p between the two speakers?

A. Professor and student, B. Classmates. C. Singer and listener.
2. What is the relationship between the speakers?

A. They are neighbors. B. They are friends. C. They are strangers.

3. What is the relationship between the speakers?
A. A taxi-driver and a passenger.
B. A policeman and a passer-by.
C. A conductor and a passenger.
4. What is the relationship between the speakers?
A. Professor and student. B. Boss and employee. C. Father and daughter.
5. What is the relationship between the speakers?
A. Doctor and patient, B. Headmaster and teacher C. Neighbors.
6. What is the relationship between the speakers?
A. Manager and secretary. B. Accountant and customer.C. Professor and assistant,
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1. What is the weather usually like in April?
A. Cool and dry. B. Warm and dry. C. Cool and wet.
2. What is the man going to do on October 28th?
A. Attend a wedding. B. Go to a concert. C. Leave his cousin. -

3. What do we know about the woman?
A. She has missed the train.
B. She should buy the ticket now.
C. She can catch the train in time,
4. Who 1s the woman?
A. An editor, B. A reporter. C. A writer.
5. What do we know about the woman?
A. She has been offered a new job.
B. She has been fired by the company.
C. She has been absent for some time.
6. What does the man offer to do for the woman?
A. To serve as her driver.
B. To serve as her body guard.
C. To serve as her tour guide.
7. What 1s the man going to do?
A. To go to the theater, B. To visit his uncle. C. To hold the party.

—_— 4 S



RAE®RT, IT5Eh

= .KE5HH

Wy T 7 BT

BB WA BE—iA .

1. When did the man last meet Ashley?

A. Three days ago. B. Two days ago.

2. When will the man and his wife leave?

A. On Jan. 11th. B. On Jan. 16th.

3. When is the meeting?

A. At 5.;55. B. At 6:15,

4. When will the man’s bus leave?

A. One hour later.

5. What’s the correct time?

A.11.55. B. 11:50.

6. When will the coat be finished?

A. By Thursday morning. B. By Friday evening.

7. When should Larry arrive?

A. Before 10.00. B. At 10.30.

M. SF5itY

B. Fifteen minutes later.

FEXEERE —/ME, NEP AR AB.C =4 % o %
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C. Yesterday.

C. On Jan. 5t.h.

C. At 6:35.

C. Fifty minutes later.
C.12.02.

C. By Friday 'morning.

C. At 11 . 00,

r w7 B, BEMEREA —AN/ME MBS TSR AB.C =/ 3% 50 o 3% 1!

BRI, Ur5eHEE
B B L
. How many days is the deadline? |
A. 1 day. B. 2 days.
. How much would a ten-minute call cost?
A. $26. B. $8.
. How much is the coat now?
A. $58. B. $224.

ﬁ)‘(]‘ﬁ}: VRERA 10 B0 B i i ) o B & 4 26 /N A B 3 F — /i

C.3 da_ys.
C. $50.

C. $174. 40.

. How much should the woman pay if she buys two T-shirts?
A. $10. B. $12. C. $11.

. How much should the man pay? |
C. 100 cents.

A. 50 cents. B. 75 cents.
. How much are two red scarves?
A. $14. B. $ 28. C. $56.
. How much did the man spend for his lunch?
A. $7.50. B. $ 3. 50. C. $6.00.
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1. Where is the man possibly? |

A. In the street. B. At a bus stop. C. On a bus,
2. Where was the man last weekend most probably?

A. In his sister’s. B. At his home. C. On 4th Street.
3. Where is the woman now? |

A. In the office. B. In her house. C. At table,
4. Where does the conversation most probably take place?

A. At home. B. In a car, C. In a classroom.
5. Where does the conversation take place?

A. At a hotel. B. At a cife. C. At a restaurant.
6. Where can the man smoke possibly?

A. In the room. B. In the next room., C. Outside,
7. Where is the woman now?

A. In Washington. B. In Chicago. | + C. In Miami.
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1. What i1s the man’s attitude towards the interview?
A. He is angry. B. He is worried. C. He is confident.
2. How does the man probably feel now?
A. Worried. B. Allright. C. Indifferent.

. What does the woman mean?

A. She likes to share books with the man.
B. She agrees to talk with the man frequently.
C. She wants to borrow some books from the man.

. What does the woman think of the man?

A. He 1s clever. B. He is honest. C. He 1s kind.

. What does the woman mean?

A. She doesn’t want to work.
B. She hasn’t got a job yet.
C. She will start to work soon.

. What do we know about the man?

A. He will not learn computer.
B. He has no idea of computer.
C. He does not like to use computer.

. How does the man feel about the woman?

A. She’s careless with money.
B. She doesn’t like money.
C. She is able to make money.
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1. Why does the man refuse to look at the woman’s dress?

5 1

A. He doesn’t want to. B. He’s not interested. C. He’s too busy.
2. Why does the woman tell the man to ask Ann? |
A, She 1s a librarian, B. She owns a bookstore. C. She probably has the book.

3. What stops the man to go to the party?
A. He doesn’t like parties.
B. He has to go to school.
C. He has to do some studying.

4, Why can’t the woman give a reply then?

A. Because she has to get her husband’s permission.
B. Because she is not sure whether she will be free on Sunday.

C. Because she doesn’t like football matches.
5. Why will the man go to Edinburgh?

A. To drive the woman there.

B. To have a meeting in Glasgow.

C. To meet some important people,
6. Why is the man moving?

A. He doesn’t like music.

B. He needs a quieter place.

C. He doesnt get along well with his neighbour.
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1. Why doesn’t the woman want to go to the beach?

A. She can easily get sunburnt.

B. It's not hot enough to go.

C. It will be raining hard.
2. Why won’t the man buy a new car?

A. He doesn’t like a new car.

B. His garage is too small.

C. He doesn’t have enough money.
3. What is the talk about?

A. Exam results, B. History paper.
4, Who are they talking about?

A. A lady. B. Cleaning ladies.
5. What’s being discussed?

A. A bad cold. B. The weather.
6. Whom are the speakers talking about?

A. Their daughter. B. Their student.

- 7 —_
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C. A good job.
C. A teacher..
C. The sun.

C. Their friend.
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1. Where did the conversation most probably take place?

A. At doctor’s office. B. In the class. C. In the library.
2. Why did the woman insist the doctor should take care of her first?

A. Because she is dying,

B. Because her death report will be sadder than the dog.

C. Because she thought the doctor should save her first.
e 2 Bt i, m& 3~4 L.

3. What are the man and the woman?

A. Students who are studying law.
B. Lawyers.
C. Secretaries.
4. Where does the woman’s mother work probably?
A.In a company. B. In a law office. C. In a school.
Wy 28 3 Bt s, B 5~6 &
5. When is Mandy’s birthday?
A. The next day.
B. The day after next.
C. The day they had the talk.
6. What will the man and the woman buy for Mandy? |
A. A record. B. Some flowers. C. A box of chocolates.
U 4 B, E 7~8 A,

7. What are the two speakers talking about?

A. About a professor.

B. About a hockey game.

C. About an exam. |

8. Where are they going according to the conversation?

A. To the classroom.

B. To the professor’s.

C. To the library.

Ireg 5 BXT &, Bl & 9~10 &1,

9. What drink does the man want?

A. Tea. B. Orange juice. C. Coffee.
10. Where do you think they are?
A. In a shop. B. At home. C. In a restaurant.
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1. When did the man receive the invitation?

A. That afternoon. B. That morning. C. That evening.
2. Why will the woman ring Roy up?

A. To ask him when the party will begin.

B. To tell him how to prepare the party.

C. To tell him some good news.

3. How will the two speakers go to the party? |
A. By bike. B. By taxi. C. By car.

Ires 2 BE X, Bl 2% 4~6 .

4. What is the probable relationship between the woman and Paul?

A. Brother and sister. B. Husband and wife. C. Mother and son.
5. Why is the woman angry with Paul? |

A. Because he is spending too much time on the computer.

B. Because he didn’t finish his schoolwork.

C. Because he didn’t finish his lunch.
6. What does the woman ask the man to do?

A. To bring Paul home. B. To have a talk with Paul. C. To talk to Paul’s teacher.
U8 3 Bt iE B4 7~ M,
7. Where did the man work before?
A. In a port, B. In a bank. C. In a government office.
8. How did the man like the work and the people in the shipping department?
A. The work was tiring,and the people weren’t friendly.
B. The work was tiring, but the people were friendly.
C. The work wasn’t tiring,but the people weren’t friendly.
9. What did the woman wish?
A. She wished that the man would get on well with the people.
B. She wished that the man would be friendly to the people.
C. She wished that the man’s idea would come true.
W el 4 BeXtih, Bl 10~12 f4,
10, Where's the car being pulled out?

A. A lake, B. A sea, C. A river.
11. What caused the accident?
A. The driver drank too much. B. The driver was very tired.

C. The driver was ill when he was driving.
12. Who knew that the driver drove away?
A. His friend. B. Nobody. C. His wife.
Wrss 5 BRXF 34, A% 13~15 &4,

13. Where did the woman spend the nights in the country?

A.In a farmer’s house. B. In the open air. C. At a hotel.
14. What was the weather like in the country?
A, Fine, B. Rainy. C. Hot.
15. How long did it take the woman to come back {from the country?
A. About one hour. B. About {four hours. C. About nine hours.

WS 6 B X o, 128 16 ~18 §3,

16. Why does not the woman book hotel rooms?

A. Because she is staying with her friends.

B. Because she wants to save money.

C. Because she can’t {ind a hotel.
17. What is the man going to do in the vacation?

A. Take piano lessons. B. Go to the beach. C. Give piano lessons.
18. What do we know about the man?

A. He is thinking about where to go.

B. He'll go with the woman. C. He envies the woman.

— 9 _
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. How does Sally want to go to America?

A. She insists on flying there.
B. She prefers to go there by ship.
C. It isn’t cold.

. What 1s Peter’s opinion?

A. He thinks air transport is the safest.

A, B
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B. He thinks air transport is really safe compared with road transport.

C. He thinks air transport is safer than water transport.

. What is Sally’s opinion about going by sea?

A. Though it isn’t fast,it is relaxing.
B. It is both fast and relaxing.
C. It 1s neither fast nor relaxing.

A. She’d like to fly to America.
B. She’d still prefer sailing to flying.
C. She can’t make a decision.

rig 2 BRXHE, [ 5~8 31,

. When is the girl planning to visit her friend?

A. In the morning.
B. In the afternoon.

C. In the evening.

. When is the girl planning to come home?

A. By midnight.
B. In the morning.
C. In the evening.

. What does the father ask her not to do?

A. Not to get back home earlier.
B. Not to leave Karen’s house before 11.30.
C. Not to let others drive her car.

. Which street has more traffic?

A. The Second Street.
B. The freeway.
C. The Fifth Avenue.

WrsE 3 BEXTHE, M2 9~12 5,

. Why did the man receive a ticket?

A. Because of parking car here for too long time.

B. Because of staying for too long in the store.

C. Because the car was not allowed to park here.

. After Peter’s persuasion,what does Sally think about her trip?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20,

What did the man leave on his car?

A. An old ticket.

B. A note of explanation.

C. Some money for the madam.

Why is the man impatient?

A. Because he has to look after his child.

B. Because he has to get back to work soon.

C. Because his wife is waiting in hospital.

What result can we learn from the conversation?
A. The man was punished at last.

B. The man wasn’t punished at last,

C. We don’t know.

e 4 B s, 1% 13~16 3.
Why does the woman ask the man about the rules?
A. Because she has just moved to the apartment building.
B. Because she wants to write a report on them.
C. Because she is interested in them.
Where are the people there allowed to park their cars?
A. At the corner of the building.
B. In front of the building.
C. Behind the building.
What kind of pet is permitted in the building?
A. Dogs. B. Cats. C. Birds.
Where does rubbish have to be taken?
A. Qutside of the building.
B. To the first floor.
C. To the dustbin.

45 5 BextiE, W4 17~20 A,

Why does’t the man want to go to the seaside?

A. Because there’s something wrong with his knees.
B. Because it is very cold here.

C. Because he has been there many times.

Why does the girl want to go to the library?

A. Because she went there every day.

B. Because she went there many times.

C. Because she wanted to read some new books.
Where will they go probably?

A. To the mountains.

B. To the library.

C. To the museums.

Why do they want to go somewhere?

A. Because they just want to have a special Saturday.
B. Because they want to relax themselves. .

C. Because they have nothing to do.
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The year Marits was born 1

L.

&

The thing Marits greatly helped Einstein with 2

Einstein’s theory proved to be correct and

The year _ 3 he had become famous all over the world.

The reason Einstein and Marits get divorced? 4 from coming back to Berlin.

We should 5 when talking about
Einstein’s theory.

The tact the writer wanted to tell us

res 2 B, M 6~10 /3.

Last summer [ visited Mexico City to see the 6 in the museum there.

The language spoken in Mexico City is 7

The manager of my hotel gave me 8 of the city.

The best way to get to the museum was 9

I went to the museum 10 at last.

Urss 3 B E, B 11~15 &,

People Things they did
11 Planted flowers
Bob’s mother 12
13 Played with toys
Mike’s father 14
15 Played with Mike’s nephew
WTeE 4 Bedh e, M2 16~20 &4,
Do Some Volunteer Work
Time What we did/What happened
7:30 | 16 at the school gate
17 got to a street park
8:50 18
19 rain stopped
10:20 20
Ursh 5 Bi e, [m% 21~25 &,
Events Facts
The thing the speaker mainly discussed. 21
The way cola i1s originally sold. 22
The reason the speaker mentioned John S. Pamberton He developed cola 23
The way the drug was made into a soft drink By 24
The reason the clerk suggested mixing the drug with soda water. | There happened to 25
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1. Who are the woman and the man?

L

_l._

A. Wallet loser and passer-by.
B. Teacher and student.
C. Wallet loser and salesman.
2. What does the woman mean?
A. She cannot send it to the meeting.
B. She can’t finish it before 3:00 p. m.
C. She can finish it before 3.:00 p. m.
3. Why does the woman study so hard?
A. She wants to take the exam.
B. The exam will be very difficult.
C. She wants to get a good mark.
4. Why can’t the woman give up working?
A. She wants to study well.
B. She is in need of money.
C. She enjoys working while studying.
5. How much is the skirt?
A. $60.77. B. $16.77. C. $60.17.
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6. What's the time of the day?

A. Morning. B. Afternoon. C. Evening.
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7. Where do the two speakers want to go?
A. To a hotel. B. To a shop. C. To Jim’s house.

Urss 7 BAT R}, RIS 8~9 /I,

8. How long had the man waiting for her?

A. Nearly an hour. B. More than an hour. C. About five minutes.
~ 9. Why didn’t she tell her boss about her appointment?
A. Because she didn’t think the boss would let her go.



